SA: o=
H: AL CSME DR(AISSX/ 0 - HAY)
&©: LoI=EXAE 28 & =25 X CERE)
2A -3 - S2A(3A) - MISAY - BLES Ofl uFoH J & A Hns2
(= 44,873,957 52,463,001 17,589,134
QIO REXAL 2R 32,502,691 40,192,116 17,689,425
308 XIXISHHISOIE 32,455,691 40,145,116 17,689,425
01 MR SHBABEZ 32,455,691 40,145,116 7,689,425
OJIZ2=2X E ZI|IQUEE 20 X 32,455,691 40,145,116 17,689,425
LOIQUALEE(DISEY) AI(ZD) 3,972,374 3,546,520 425,854
= 3,048,254 2,797,752 250,502
(= 924,120 748,768 175,352
403 XIS SEX=201™ 3,972,374 3,546,520 425,854
= 3,048,254 2,797,752 250,502
< 924,120 748,768 175,352
01 AXISHH 22X 3,972,374 3,546,520 425,854
LOIQAAE E5(0Is2Y) 1,265,038 839, 184 425,854
= 744,139 493,637 250,502
(= 520,899 345,547 175,352
QD2 CCTV XIR(=1) 748,713 845,988 ~97,275
z 440,426 497,640 A57,214
< 308,287 348,348 A40,061
403 XIXISHHISXH=01™ 748,713 845,988 N97,275
= 440,426 497,640 A57.214
(= 308,287 348,348 ~40,061
01 XIXISHHIXHE B X 748,713 845,988 N97,275
LOIEDIQED|Z CCTV X ALY 748,713 845,988 N97,275
z 440,426 497,640 A57,214
< 308,287 348,348 A40,061
ZI|Q27|2 B|AlE X AFH(Z2D) 325,194 410,1%4 185,000
= 191,292 241,292 50,000
(= 133,902 168,902 35,000
403 XIS SK=01™ 325,194 410,194 85,000
= 191,292 241,292 50,000
< 133,902 168,902 35,000
01 XIXISHHIXH=2E X 325,1% 410,194 85,000
COIRI QU2 ED|AlL &R ALY 325,194 410,194 85,000
= 191,292 241,292 50,000
(= 133,902 168,902 35,000
HE HAI2S 28 U AL &5 8,940,736 7,898, 140 1,042,596
= 1,730,000 1,300,000 430,000
= 5,849,000 5,387,000 462,000
(= 1,361,736 1,211,140 150,59
B FAAE EX(2D) 7,165,280 6,541,450 623,830
= 5,849,000 5,387,000 462,000
< 1,316,280 1,154,450 161,830
403 RIS STH=0|™ 7,165,280 6,541,450 623,830
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LA

T AAUSH CSME FX(AISISXI/ =0 - HAH)

Belr d8 FA2E 2" 2 AE =25 EEREED

SA - 3H - SA(3AH) - MRAY - BdS Ol &4 Jl & A HwsZ
s 5,849,000 5,387,000 462,000
= 1,316,280 1,154,450 161,830
01 IXISHHA2EE 7,165,280 6,541,450 623,830
OFANE &= 7,165,280 6,541,450 623,830
Fas 5,849,000 5,387,000 462,000
= 1,316,280 1,154,450 161,830
D2LH9 MR Z X2l XIS(=212) 1,730,000 1,300,000 430,000
= 1,730,000 1,300,000 430,000
308 XX HM SO0l 1,730,000 1,300,000 430,000
= 1,730,000 1,300,000 430,000
01 XXHHBLELS 1,730,000 1,300,000 430,000
OZZLH9 AHZ R+ ZrellXIRHl XIS 1,730,000 1,300,000 430,000
= 1,730,000 1,300,000 430,000
M3XH HAAE =5 H= =& 45,45% 56,690 A11,234
207 A0 45,45% 56,690 A11,234
01 =4l 45,45 56,690 A11,234
OMIBXt HAINE =3 HE =8 &9 45,45% 56,690 A11,234
Hzdgxtel H o HE(MISK/ - Had) 135,018,433 135,218,433 £.200,000
= 108,049,321 108,049,321 0
J| 5,290,000 5,290,000 0
S 21,679,112 21,879,112 A.200,000
100MIAICH, (HEASTIEIAIS 6,513,616 6,713,616 A.200,000
P 5,290,000 5,290,000 0
= 1,223,616 1,423,616 200,000
23S S30|S % £X 0 200,000 £.200,000
403 NXIEHSH20IA 0 200,000 £.200,000
01 XIS A= 2 E 0 200,000 200,000
OLEE S30/=LeHY &X 0 200,000 200,000
EIXEH2oIE AMIIEN KR (MEI=R/cS) 1,951,685 2,051,685 100,000
s 671,205 671,205 0
= 1,280,480 1,380,480 2100,000
ASE ARSI MHIA =Y 1,951,685 2,051,685 2100,000
s 671,205 671,205 0
S 1,280,480 1,380,480 2100,000
AEE HHY Stul=s 0 100,000 A100,000
308 AXIHMSO0IA 0 100,000 2100,000
11 31 2SOIHEHE A X R ETAH] 0 100,000 100,000
OLEYE MHHY SIS 0 100,000 A100,000
HRES(=ASKL) (MEIEX/FHLHEXR) 65,931 0 65,931
2dXE 65,931 0 65,931
ARISXRE R NE2LSEE= 65,931 0 65,931
802 BHet=z DI Et 65,931 0 65,931
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2A: LoI=XD

HH: YRBS (=X D) (ABI=X/FH A EXH)

Sl 28AE (et & 2)

SA - HB - ERA(BA) - MSAY - BES ol kot ol H o HE2

01 22X 3LHE2 65,931 0 65,931
©'218 X9LBSHEI | 2IXE 827 0 827
0'24E B2Y BANAMEH 2SN 609 0 609
©'22d LI EEEAMEIA HED 2 XI& 33,408 0 33,408
O'225 SZHEOAIAHIA HE D2 X 5,992 0 5,992
©'223 LRI QURLAXRME 2S XA 2,609 0 2,609
O'2E NEE FHEATL X 22,486 0 22,486
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